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OVERVIEW

The test assesses a number of key skills like logic, analysis and business sense. The 
actual online test has 23 questions multiple choice questions and lasts 45 minutes. 
Use of a calculator and other electronical devices are not allowed during the test. 

The sample contains 10 sample questions by BCG. They are intended to familiarize 
you with the format and navigation of the test. You should complete them in 20 
minutes. 

The screen is divided into 2 parts: 

• On the left, you will find the questions and the multiple choice answers 

• On the right, you will find the documents to which you have access 

The navigation allows you to move forward and backwards through the case, as 
needed. You may change your responses before time runs out. In some questions, 
you can click on one or more answers. At the end of the 45 minutes, you will need to 
quit the case. 

The score is +3 points for every right answer, 0 points for no answer and -1 point for 
a wrong answer. 
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CORRECT ANSWERS

This calculation can be broken down into two steps: 
1.Calculate cost per lead 
2.Calculate cost per sale  

The cost per lead needs to be calculated across all three 
banks, taking into account their total share of mix: $5 x 
30% + $3 x 60% + $6 x 10% = $3.9 / lead  

The cost per sale can be calculated by dividing the cost 
per lead by the conversion rate: $3.9 / 10% = $39.0. 

 Question 1 – 1
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CORRECT ANSWERS

The conversion rate depends on two drivers: the quality of leads provided and the 
effort put in by the sales agents. Each answer needs to be evaluated against the two 
drivers. Also note that each lead is handled by a single sales agent.  

• Increasing the number of representatives can increase the volume of leads handled 
but not the conversion rate as each lead is dealt with by a single agent  

• The sales agents’ salaries and bonuses directly influence the effort they put in and 
therefore the conversion rate  

• The type of business the leads is in influences the quality of the lead. For instance, if 
the business is a van that sells ice cream, it probably will not accept debit cards and 
therefore is not a good potential lead  

• The working hours of sales representatives directly impacts the effort they put in  

Therefore options b, c and d impact the conversion rate and so answer 4 is the correct 
answer.  

Question 2 – 4
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CORRECT ANSWERS

In order to maximise its conversion rate, PayCo needs to rank lead sources 
from the highest to the lowest conversion rates. It should then use as many 
leads from the first source before considering the second one: 
1. Com bank 15%; 80,000 leads available 
2. Alma bank 12%; 100,000 leads available 
3. Bingo bank 8%; 600,000 leads available  

PayCo needs 300,000 leads per year to meet its target sales. To maximise the 
conversion rate, the lead mix should then be: 
1. Com bank: 80,000  

2. Alma bank: 100,000 3. Bingo bank: 120,000  

The maximum conversion rate achievable is then: (15% x 80,000 + 12% x 
100,000 + 8% x 120,000) / 300,000 = 11.2% 

Question 3 – 2
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CORRECT ANSWERS

The maximum sales target is the one that can be achieved by using the maximum conversion 
rate based on the available leads. The average cost per sale can be calculated as: the sum of 
the number of sales based on the number of leads per bank from question 3 and the 
conversion rate multiplied with the cost per sale per bank and divided by the total number of 
sales (weighed average).  

Sales per bank: 
1. Alma bank: 100,000 x 12% = 12,000  
2. Bingo bank: = 120,000 x 8% = 9,600 sales 
3. Com bank: 80,000 x 15% = 12,000 sales 

The cost per sale can be calculated by dividing the cost per lead by the conversion rate: 
1. Alma bank: $5 / 12% = $41.7  
2. Bingo bank: $3 / 8% = $37.5 
3. Com bank: $6 / 15% = $40 

Therefore the average cost per sale is: 
((12,000 x $40) + (12,000 x $41.7) + (9,600 x $37.5)) / (12,000 +12,000 + 9,600) = $39.9 

Question 4 – 3
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CORRECT ANSWERS

This question can be solved using a three-step approach:  

1.  Calculate the profit margin with a 10% conversion rate across all banks  
2.  Calculate the profit margin using the average cost per sale  
3.  Calculate the percentage difference between the two margins  

The cost per sale for 10% conversion rate is $39 according to Question 1. As a 
consequence, the current margin is ($100 - $39) / ($100) = 61%  

The average cost per sale is $39.6 according to Question 4. The profit margin 
would therefore become ($100 - $39.6) / ($100) = 60.4%  

The percentage difference is therefore (60.4% - 61%) / (61%) = -0.98% 

Question 5 – 2
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CORRECT ANSWERS

To calculate total profits in each situation we need to:  

1.  Calculate the number of customers: # of leads x conversion rate (A)  
2.  Calculate the revenues for all customers: (A) x $100 (B)  
3.  Calculate profits: (B) x profit margin for each situation  

Profits in the current situation are:  

300,000x10%x$100x61%=$(300,000x6.10)  

Profits with the maximum conversion rate are 

300,000x11.2%x$100x60.4%=$(300,000x6.76)  

The difference between the two is therefore: 

(300,000x6.76)–(300,000x6.10)=300,000x 0.66 = $198,000 ≈ $0.2M 

Question 6 – 1
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CORRECT ANSWERS

The cost per sale calculated in previous questions only includes the cost related to the 
purchase of leads from the different banks. It does not include the cost related to the sales 
force.  

Calculating the full cost per sale would require knowing how much sales representatives cost 
per customer acquired. The different answers need to be evaluated against this criterion:  

a. The hourly wage of sales representatives would be helpful to calculate the cost of sales per 
customer acquired  

b. The number of leads processed per hour per agent would also be helpful, as it would allow 
you to calculate the cost allocation between the different leads  

c. The number of sales reps per team would not be helpful as each lead is handled by a 
single agent  

d. The number of sales managers would not help determining the sales cost per customer 
acquired  

Question 7 – 2
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CORRECT ANSWERS

The head of sales’ initial conclusion is that sales representatives handling 
Bingo Bank leads “have been consistently making less sales and getting lower 
bonuses than their peers”.  

Indeed, the conversion rate for leads from Bingo Bank is lower than that for 
other banks. The comment implies that, to increase sales representatives’ 
satisfaction, their bonus would need to be similar relative to their peers.  

However, if bonuses increase to $20 per sale for all sales representatives, the 
relative bonus obtained by sales representatives focused on Bingo Bank will 
not increase.  

Answer 4 would therefore not help solve the problem and is the correct 
answer. 

Question 8 – 4
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CORRECT ANSWERS

Answers 1 to 3 would all help decrease sales representatives’ tendency to sell 
at unprofitable prices. However, none of them would completely stop the 
trend:  

1. Training sales representatives to give better prices could still result in sales 
representatives giving unprofitable prices in practice.  

2. Giving a fine to sales representatives, while a good incentive, is not 
guaranteed to fully stop the trend.  

3. Similarly, setting up a better incentives scheme is also not guaranteed to 
halt the trend.  

Answer 4 is the correct answer because it fully prevents sales representatives 
from selling at unprofitable prices via an external audit team.  

Question 9 – 4
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CORRECT ANSWERS

None of the first three options is completely accurate based on the 
information we have:  

1. PayCo makes 15 cent for every debit card transaction and 1.5% for every 
credit card transaction. For every transaction higher than $10 PayCo 
therefore receives a higher fee from credit cards. We do not know the 
average transaction size and therefore cannot conclude.  

2. We know that the debit / credit card split is 40% / 60%. However we do not 
know the average debit / credit card transaction size. As a consequence, we 
cannot conclude if answer 2 is correct or not.  

3. We know that leads from Alma Bank are mainly restaurants and shops and 
that leads from Bingo Bang are mainly Mom and Pop businesses. However, 
we do not have any information on the volume and type of transactions 
these businesses make. We cannot conclude that this statement is true.  

Question 10 – 4
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